EHETF U RALEHRBERER —EXR

b RILERE) £ BR4 % At | ERMm) | 1BEMm) | &3m) | BRER| HERX
RA/EREE (FH)972°48) EARADER HiglT | 22838 5.4 4.8 19414 v
ERREE (TN 4R 4M) BBk R ILER B & HT 184.4 4.6 4.1 19434 v
BEFREIb RIL (DYITRURL) {EHRAEHTEIR IR TR T 380.9 8.6 5.9 19444 I
FEFRILORIL QUhYIIbRL)  |EEEEERERR FRIEET | 4190 8.7 6.0 19804 I
RERE UYFTR4ED) BEEFHTR R T 52.0 5.6 48 19604 I
ARERRE VEIRAEY) AREILR SRFET | 675 5.0 4.8 19714 I
RERLRIL (FRINIURIL) e B 78 A BT #R = BLHT 335 4.0 3.9 19264 I
EERE [t AR ERLEHR EXRGHT | 177 2.8 3.1 E N I

1 B miRiER
VHIE 2
I 0
I $I5E 6
I #I%E 0
&t 8




